Calculation Lab



Name:  __________KEY_______________


CHM 1045
1. Determine the Molar mass for each of the following compounds:

a. FeSO4 = 
151.91 g/mol



b. H3PO4 = 
97.99 g/mol



c. HgBr2 =  
360.39 g/mol



d. C6H6 = 
78.114 g/mol



e. NO2 = 

46.006 g/mol



2. For each of the following samples determine how many moles of compound are present.

a. 28.4 g of Na2S = 
0.364 moles




b. 33.85g of HNO3 = 
0.5372 moles




c. 106.9 g of  K2Cr2O7 = 
0.3634 moles



d. 63.8 Mg(OH)2 = 
1.09 moles




3. For each of the following sample determine the number of gram present.

a. 0.997 moles of  NaIO3 = 
197 g



b. 0.531 moles of CO = 

14.9 g



c. 0.5789 moles of KH2PO4 = 
78.78 g



d. 4.473 moles of MgC2O4 = 
502.43 g



4.  Consider the following reaction: C2H6O  +   O2  ( C2H4O2   +   H2O

a. How many moles of Oxygen is needed to completely react 4.34 moles of C2H6O? 


4.34 moles O2





b. How many moles of C2H4O2 will be produced if 8.67 moles of C2H6O is reacted with an excess of Oxygen?  

8.67 moles C2H4O2


5. Consider the following reaction: 2 C4H10   +     13 O2    (     8CO2   +    10 H2O

a. How many grams of oxygen are needed for the complete combustion of 137.8 g of C4H10? 

493.1 g O2





b. How many grams of CO2 would be produced if the 55.7g of C4H10 was burned in an excess of Oxygen? 

169 g CO2



6.                       3 PbCl2    +   2 Na3PO4    (    Pb3(PO4)2     +   6 NaCl

a. What is the theoretical yield of Pb3(PO4)2  if 84.5 g of PbCl2 is added to 46.27 g of Na3PO4? 


82.2 g
Pb3(PO4)2


b. What is the percent yield for the above reaction if 25.719 g of Pb3(PO4)2  was obtained experimentally? 

31.3 %




7.                          2 AgNO3  +  BaCl2    (     2 AgCl    +    Ba(NO3)2
a. What is the theoretical yield of AgCl  if 89.23 g of BaCl2 is added to 59.891 g of AgNO3? 


50.530 g AgCl




b. What is the percent yield for the above reaction if 40.9 g of AgCl  was obtained experimentally? 


80.9%



8. Calculate the percent composition for (NH4)2SO4.

a. %N = 


21.2%


b. %H = 


6.1%


c. %S = 


24.2%


d. %O = 


48.5%


9. Calculate the percent composition for CaCO3 
a. %Ca = 

40%


b. %C =  


12%


c. %O = 


48%


10.  Determine the empirical formula of a compound with the following percent composition: C = 40.00%, O = 53.28%, and H = 6.72%.

Empirical Formula = 


CH2O



If the molar mass is 180.2 g/mol what is the molecular formula?




C6H12O6






11. Determine the empirical formula for a compound with the following percent composition: C = 58.54%, N = 11.38%, O = 25.99% and H = 4.09%

Empirical Formula = 


C6H5NO2
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